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1. The phenomenon of marble cancer is due to —

(A) Soot particles (B) Acid Rain (C) CFC (D) Fog

T FHAEE ToeNI{0 qC0 R &y 2

(A) Fitea el (B) SmiFTe g2 (C) CFC (D) Fog (Fa™)

TR e T TfeHATDT BRI —

(A) BTl BT (B) el aut (C) CFC O ES
2. How many biogeographic zones does India have?

(A) 5 (B) 6 (C) 8 (D) 10

OHeard Foefi GR-(SNERr SRes 90T ?

(A) 5 (B) 6 (C) 8 (D) 10

TRIGYHT eieraer JAfdes it e 6, ?

(A) 5 (B) 6 (C) 8 (D) 10

2115-A 1. (Turn over)
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3. Detritus Food chain always starts from

(A) Algae (B) Animals
(C) Plants (D) Dead organic matter
(oo TT (52 T OF = -
(A) =test (B) & (C) Tfegn (D) J© (&=<<E 72
e e GrraTe STURSTER WTel ST L0 576 —
(A) T3 (B) wgL-simoft (C) Ty (D) 7 Sa-vere
4. ‘Sustainable Development Goals’ to be fulfilled by which year?
(A) 2020 (B) 2030 (C) 2040 (D) 2050
(A) 2020 (B) 2030 (C) 2040 (D) 2050
eI T S1er gt ATerAT 9 ] 9 B 2
(A) 2020 (B) 2030 (C) 2040 (D) 2050
5. How many levels are there in Environmental Education?
(A)6 (B) 4 ©) 2 D)5
A g wd A ¢
(A) 6 (B) 4 (©)2 D)5
TITEROT fRTTAT ShidaeT WRe® o+ ? —
(A)6 (B) 4 (©)2 D)5
6. Which element is the cause of ‘itai-itai’ disease?
(A) Cd (B) Hg (C) As (D) Pb
2HI2-2512 (@5 T Gl «ed R Wi ¢
(A) Cd (B) Hg (C)As (D) Pb
T T “Itai-Ttai” JATHT PRI ET ?
(A) Cd (B) Hg (C) As (D) Pb
7. Earthquake is measured in which scale?
(A) pH scale (B) Linear scale (C) Richter scale (D) None of these
SRR WG] I (FCER AR et T 2 9
(A) pH F=1 (B) ferferns e (C) Ao o=t (D) @i=g =
TEATGATEDT TIRHTOT AT HTTDheATS b H-E ?
(A) pH scale (B) Linear scale (C) Richter scale (D) ﬁ’fq‘%ﬁﬁﬁﬁl’sﬁ
8. The Forest (Conservation) Act, was enacted on
(A) 1972 (B) 1974 (C) 1980 (D) 1981
el TR e B 2R 2 ¢
(A) 1972 (B) 1974 (C) 1980 (D) 1981
T TRETUT BT Sbfger ATRE Wl 2

(A) 1972 (B) 1974 (C) 1980 (D) 1981
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g,

10.

1y,

12.

13-

An example of natural pollution is —

(A) Forest fire (B) Volcanic eruptions

(C) Natural organic decays (D) All of these

T aipfos A Trigad 2 —

(A) VIR (B) Sicaafa e wiagesits

(C) AFleFelta FiE (T8 (D) ATHE FIF L

R T3 T Y TR SETERVT & ?

(A) =T STFTEATT (B) SaTerET fshie (C) Tpfcred 31T & (D) e 7

What is the main objective of the UNCCD?

(A) Promote desert tourism

(B) Combating desertification and mitigating the effects of droughts
(C) Expanding desert areas for agriculture

(D) Protecting deserts from any human activities

UNCCD-47 &4« 7% & ¢

(A) TrefiE 2o TS S
(B)W%Wa@i@%ﬂmef@mﬁmmﬁ@w
(C) P T TP LT IS Fl
(D)@—@WWWQTWW@WWW

UNCCD &1 97 e B 81 ?

The term ‘ecosystem’ was first coined by —

(A) Odum (B) Tansley (C) Rachter (D) Both B and C
SHIHEET A AEST w57 HLYT TS LT —

(A) SEi¥ (B) GG (C) Lo (D) ‘B’ ¢ ‘C’ T&g
P ) ST TTRAT (ecosystem) 216S FRAFTAT Uy BT 2

(A) Odum (B) Tansley (C) Rachter (D)BIC T
World Environment Day is observed on

(A) 28" February (B) 5 June (C) 7™ August (D) 10™ April

Ry i faam wiifers = -

(A) b G el (B) €2 g (C) AT W55 (D) s0% «fgs

forey qrfeor Ry gt ot UTer TS 2

(A) 28 TRER B)5 I (C) 7 IR (D) 10 amiel

Who is known as ‘Waterman of India’?

(A) Anna Hajare (B) Rajendra Singh (C) M.S. Swaminathan (D) Subhash Dutta
SO “Water man’ | ‘e =cH ~ifbe GEH ==

(A) SIS Q&R (B) Ao PR (C) @43, AL (D) F[&iF w&

FETS “Waterman of India’ R =8 2
(A) Anna Hajare (B) Rajendra Singh (C) M.S. Swaminathan (D) Subhash Dutta
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14. Which gas is mainly produced due to incomplete burning of wood?

15.

16.

17.

18.

(A) CO (B) SO, (C)NO, (D) NO,

iR i MG T PR Sl wates i Teot &7 ¢

(A)CO (B) SO, (C)NO, (D) NO,

P 1Y SIS AT DTS D! YU Tl GRT R 2

(A)CO (B) SO, (C)NO, (D) NO,

The target ‘Green House Gas’ emission was an outcome of the international conference at

(A) Stockholm (B) Kyoto (C) Paris (D) Rio-de-Janerio
& QT P1-a7 [Hew=e IR SRl @ WESHoF AT (@ Too Geiieet il =

(A) BRI (B) ReCAICHI (C) =irifa (D) Re-fo-(wfafas
oT&T- ‘Green House Gas emission’ ga——raqr—cmﬁg?:r FHe ! uReme Rr 2

(A) Stockholm (B) Kyoto (C) Paris (D) Rio-de-Janerio
The process of nutrient enrichment in water is termed as —

(A) Eutrophication (B) Limiting nutrients  (C) Biomagnification (D) None of these
e HffR e alfeier = m —

(A) ZOCBIRFCE* (B) v =42 (C) AR (D) @R T
UHMHT &7 UIep Hee Hiharelrs I |

(A) IgITthasa (Eutrophication) (B) i gy

(C) IIIRfthea (Biomagnification) (D) It &9 BT

The 3R principle in waste management
(A) Reduce, Regain, Reuse
(C) Reduce, Reform, Reset

ey JIER 3R-AF [olo T
(A) Reduce, Regain, Reuse
(C) Reduce, Reform, Reset

PIER IIEIUTH 3R Rigma & ar ?

(A) Reduce, Regain, Reuse
(C) Reduce, Reform, Reset

Leader of ‘Narmada Bachao Andolan’

(A) Vandana Siva

(C) Menaka Gandhi

Tt JBIS BCwICD 22 2 o

(A) T fret

(C) GiT=ARe it

THET T STl P SRATS el TRET 1Y ?

(A) Vandana Siva
(C) Menaka Gandhi

(B) Reduce, Reuse, Recycle
(D) Reduce, Retain, Reuse

(B) Reduce, Reuse, Recycle
(D) Reduce, Retain, Reuse

(B) Reduce, Reuse, Recycle
(D) Reduce, Retain, Reuse

(B) Medha Patkar
(D) Sunderlal Bahuguna

(B) &t =5z
(D) FeTeT g2

(B) Medha Patkar
(D) Sunderlal Bahuguna
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20.

21.

22,

23

Which of the following is an extinct species?

(A) Tiger (B) Lion (C) Dodo
e G a3 e awifs ¢

(A) IR (B) Pr2 (C) ceiTet
forey ey g1 fargq wromTfey &1 2

(A) aTEr (B) e (C) =t

Which of the following is not a solution for global warming?
(A) Using compact fluorescent light (CFL) bulbs

(B) Planting more trees

(C) Reducing fossil fuel consumption

(D) Deforestation

P TR e & (G G PR afe 7 2
(A) Compact fluorescent light (CFL)-49 91929

(B) wfefe Fweaied T

(C) SR FisTia AT 2 T

(D) SReTR=!

T e T forereaTdY T gf T e E1E T —
(A) Compact Fluorescent Light (CFL) bulbs Bl TR

(D) Ostrich

(D) ToAIR

(D) I

(D) Biomass

(D) ceffie (SMETE)
(D) SIHIR

(D) 91%

(D) 91%

(D) 91%

(B) SR 9T sie-fear Ao

(C) Srareq g HH ITHT

(D) a-fa=mer

Tidal energy is energy obtained through

(A) Sunlight (B) Wind (C) Oceanic tides
e = el W & 2

(A) G sl (B) q1Y. (C) TR (58
TIR Foliep! AT o &l 2

(A) e Tp1eT (B) graT (C) FERIFRIY $IR
Ocean covers of earth’s surface.

(A) 51% (B) 71% (C)61%

TEFsE #RSE T =oR* SRS o R ?

(A) 51% (B) 71% (C) 61%

TERIFREY gediep! |8 AT B |

(A) 51% (B) 71% (C) 61%

Impact of population explosion on environment includes the following except —
(A) Deforestation (B) Water scarcity
(C) Biodiversity destruction (D) Tropical cyclone
Cra el T 2R SRR evin TERTERe deR WA FE ¢

(A) SReRr (B) & WSH

(C) Giahay wA (D) Trieta g

oy U e Y SERISRET 9 DY T Y —

(A) T=-femmer (B) U 34T
(C) Sferep fafereramey farer (D) SSUIGfCa=H Ahard
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24,

25.

26.

27.

28.

29,

Botanical Gardens are examples of —
(A) in-situ conservation
(C) in-vivo conservation

QIGIT=Ie AT @ @i Swrgae 2ot -
(A) T-FR-oraa (B) GH-F-vczrel

Botanical Garden @' S<T&xul &1 ?
(A) in-situ conservation
(C) in-vivo conservation

A river with high BOD value is

(A) Highly polluted (B) Highly productive
T BOD-Wiq! T& F(6 «Iat 7o

(A) Sfoiar 7fe

(C) iz siffma

T FHT BOD &1 AHT 31 575 2

(A) 3iferes Tgfie (B) 31R¥& IcueHh
The main component of ‘Biogas’ is

(A) Nitrogen (B) Oxygen

&4 5P A1 ACER 24 Tt ga

(A) SELBCE (B) Sifsice
Biogas T U9 SUTGH 3 &l ?

(A) Nitrogen (B) Oxygen

(B) ex-situ conservation
(D) ex-vivo conservation

(C) T-fetel a4 (D) a-ferel-skard

(B) ex-situ conservation
(D) ex-vivo conservation

Which one is located at the top of an Ecological pyramid?

(A) Consumers (B) Herbivores
IeeifEs Haffces iy e @ —

(A) A (B) $CSI&
Ecological pyramid &I <=7 & a/aferd o 2
(A) SUHIRRT (B) THTERT

When was the Paris Agreement adopted?
(A) 2010 (B) 2015
‘oIt 3 4 8T 2rafie 2

(A) 2010 (B) 2015

Paris Agreement Sfgel Ugur TRAT 2

(A) 2010 (B) 2015

Which of the following is a primary air pollutant?

(A) Ozone (O,)

(C) Carbon monoxide (CO)

e (el @2l etefie 9y 73 9
(A) st&+ (0,)

(C) TS (CO)

=1 e 1 g ary-Tgwa &Y 2
(A) Ozone 0,

(C) Carbon monoxide (CO)

(C) Very clean (D) Both (B) and (C)
(B) SIS e ey

(D) ‘B’ &=k “C’ Tewg

(C) aiferes TTom (D)BICg

(C) CO, (D) Methane

(C) CO, (D) ==

(C) CO, (D) Methane

(C) Producers (D) None of these
(C) Tesiw (D) @02 =
(C) IEH (D) A 99 Bz
(C) 2020 (D) 2025

(C) 2020 (D) 2025

(C) 2020 (D) 2025

(B) Nitric acid (HNO,)

(D) Sulfuric acid (H,S0,)

(B) 7W=fl® wpire (HNO,)
(D) efRFeiEs B (H,S0,)

_(B) Nitric acid (HNO,)

(D) Sulfuric acid (H,SO,)
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30. Which of the following can naturally filter contaminants from ground water?

(A) Sand and gravel (B) Plastic (C) Concrete (D) Steel
e el FeiRe wi OREER T3 Feliel Ao $0s I ¢
(A) qifeT @k 7S (B) 2F5s (C) &b (D) o=t
o=t ey et ATeareT SoterT PR Sf uaTeieTs mipfcrd U e T §9w ?
OSEISCIRERE (B) wlf¥ed (C) Twshic (D) s=UId
31. Which of the following is not a benefit of recycling?
(A) Reducing landfill waste (B) Saving energy
(C) Increasing pollution (D) Conserving natural resources
e @0 2 HREE 9 (0 [ 77 2
(A) TR ISE FAR (B) *if& wepq SCa
(C) 739 9w S (D) &IFTeF TS 7T FC
(=T He2 P JTAshUIchT &1 8IS ?
(A) -G PIE=e Y Ip0T (B) STl g
(C) TISHur fereaTRoT (D) WTahfIes AT FRET0T
32. Which coastal ecosystem feature acts as a buffer zone that absorbs the impact of storm surges and
tsunamis?
(A) Coral reefs (B) Beaches (C) Mangrove forests (D) Rocky cliffs
(@I TP AT I AT (FI T AT Sl @R FAIN ASIAF 2 FC 2 _
(A) &l 2Bl (B) 70e (C) iaTe e (D) & el JiY
Ry TTRaeT 1 AT TezedT & WXE 31iefl T I Hepltets Saenfyd T J9s 2
(A) BRA Ahgw (B) T5-dCE® (C) ==Y STgel (D) ST gdesIuf

33. What is a commonly suggested method to reduce man-animal conflicts?
(A) Expanding cities into forests
(B) Creating wildlife corridors
(C) Increasing hunting activities
(D) Reducing forest cover

T % &AW 7% 20T T Gl (@I G0 A @ 9
(A) STeece =izg fosfiet
(B) Sveidira e fsfidl <=l
(C) Frediona St e <
(D) IR AR g Sl
HG-U3] STEETS &F T+ ATERUKT: Pl ST TRATaIe] TR 2
(A) T &7 TEEwHHT [RaR
(B) &1 ST=ep! Ffeet aRuer =107 71
(C) RIepR 7 a1 graf~ere fohareheriets 9GS
(D) & &FeTs TR
34. Which of the following is an example of a biotic resource?
(A) Coal (B) Water (C) Fish (D) Minerals
Tod @0 G (6 e F=oitne Tuizde ¢
(A) T (B) & (C) ' (D) =&
o= e T ST SAITewe! ISTER0T &1 2
(A) DIz (B) T (C) BT (D) @t
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35. What is the primary source of energy for most ecosystem?

(A) Wind (B) Water (C) Sunlight (D) Geothermal heat

g qEerE e =feq U & o

(A) 3 (B) & (C) Glizifie (D) ©-wi7l *ife

HATRIBTLT YTNGFHT HTvd SHotiep! ST b &l 2

(A) BT (B) gt (C) g&hb! Tebrar (D) 95919
36. What is an example of a Secondary consumer in a terrestrial ecosystem?

(A) Rabbit (B) Deer (C) Wolf (D) Grass

G (b ZeTe JIFeCE N A Triggel gaf

(A) = (B) 27 (C) T8 (D) 9

I UG 8 fociia SUHaaie! IET8R0 & & 2 .

(A) &R (B) frf (C) saiar (D) IR
37. Which of the following practices supports sustainable development?

(A) Deforestation (B) Over-fishing

(C) Recycling (D) Burning of fossil fuels

e @ oA Srare mifocs e 59 9

(A) SRR (B) SIfefa& w1 517

(C) 5«4 (D) &R GietieE e

/=T e T SIRAeT Wi fdepTelTs Hed e 2

(A) g=TfeTer (B) &ffere HTST J17

(C) g (D) ST e D! S8
38. Which of the following is a soil conservation technique?

(A) Overgrazing (B) Deforestation

(C) Contour ploughing (D) Urbanisation

eleiRe @Eh gfew e b Aafe ¢

(A) Sfefae e (B) F=0oEA=

(C) P ol (D) FsFizel

=T e g5+1, HICY TRETUThT TRET & 2

(A) 31fere afRerT S ERIERIE

(C) T AT (D) gTEsiaur
39. Which farming practice helps in maintaining soil fertility?

(A) Monocropping (B) Crop-rotation

(C) Slash and burn agriculture (D) Intensive tillage

@I Fhm aReret Wbe Tl T ARCS TR FE ¢

(A) SCAIERPR (B) *FTRS

(C) Hiof @R (oifel FRFIS (D) &G Sfredd

T PS-Uglcrel HICTDT SR DIIH I ASRIT TE 2

(A) U& Feell ygfr (B) IRIET

(C) BTe 31 SeTs Tt (D) & Sileirg
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40.

4].

42.

43.

44,

Which of the following is a major cause of plastic pollution in oceans?
(A) Recycling programs

(B) Marine protected areas

(C) Improper disposal of plastic waste

(D) Biodegradable packaging

eoa (@G TR 2155F rem 9 b 127 Fia 9

(A) AR S

(B) SRR RAFFS Seee

(C) 2iPBF FeTH ST S7IRe

(D) SRR s

HERIFRAT WIRce GgNUIe] THRT BRUT 7 e T & 2

(A) GT=2rhUT FISTT

(B) Arfse UfcRfér ames

(C) TR Biewat s RifE

(D) SEfFF=TIeRUT AR RThRoTg

Which coastal ecosystem is known for providing important breeding grounds for marine life?
(A) Estuaries (B) Deep sea (C) Mountains (D) Deserts

@I TR IEOT AT G @Fg eiwew oFg B #IfHfbe o

(A) G (B) STt 3™ (C) »EoxE (D) &gl
s Stiaers goie 9 HaH el (T g7 acta aiRaers e 2

(A) T ISR (B) TfERT AR (C) wdassw (D) ToqfEs
Which type of solid waste is considered hazardous?

(A) Food scraps (B) Plastic bottles (C) Batteries (D) Paper products
(I 42T o 8 Roieeiss @i [eahe =1 ¢

(A) Sv2g qmy (B) AiF6a @ies (C) I (D) FlceE 2147y
BRI TBRET ST ThIvaTs SidFguf wiex 9 s 2

(A) TET a9y (B) wiiRee! didees  (C) TSaled aeies (D) BT e
Which chemical is commonly found in products that contribute to ozone layer depletion?

(A) Oxygen (B) Nitrogen (C) Chlorine (D) Hydrogen
(I AR AT S Ee ohem T 9 e S SEFEE Gl wial 2

(A) S=E (B) FZLaicE (C) Gifee (D) 2T
ST o ReRTepvor 97 Heraes UareiaT g e uges ?

(A) SfereorT (B) ATSSISH (C) FANT (D) BTEGISH
Which of the following is a long-term effect of nuclear pollution?

(A) Acid rain (B) Global warming (C) Genetic mutations (D) Ozone Depletion
T cialb st v ke 2er [Rer 36 ¢

(A) =nifre §f2 (B) Re-Teetza (C) Temsre sifzmes (D) STeN B S_H

T 7, ST TuuIeT SEieTell T4 < 8l ?
(A) areitr auf (B) gt amg glg  (C) 3mgafie Scuacs (D) 3T o= Rebiaor
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45. Which of the following is not a type of natural disaster?

46.

47.

48.

49.

50.

(A) Earthquake (B) Hurricane (C) Volcano (D) Nuclear explosion
(FII0 ¢F =R 2Ffes [y = 9

(A) SR (B) Fifcsa (C) icaifE (D) ~irseifes Rewme
=T 5e2 o1 TTepferes i B1eT 2

(A) g=dTAr (B) 3TeffeRY (C) STt (D) 3UTfde fapresT
Which of the following is a potential use for harvested rainwater?

(A) Flushing toilets (B) Washing cars (C) Watering lawns (D) All of these

fese @A 320 o RatEm ToR 9T I 2@ 9

(A) FIPR TIETH (B) 2% iz (C) ITehITe TFEH (D) 762

AT quT-STetdh] Th SUTNT & & ?

(A) TP ATh-HPS (B) HReT ATH-THTS

(C) ! Riag (D) It w1 &7

When was the Ramsar Convention adopted?

(A) 1971 (B) 1981 (C) 1991 (D) 2001

T AT FCT 2O (S[Do) 2R 2

(A) 1971 (B) 1981 (C) 1991 (D) 2001

Ramsar Convention @f&el T80T TRAT ?

(A) 1971 (B) 1981 (C) 1991 (D) 2001

What is the main goal of the Montreal Protocol?
(A) To reduce greenhouse gas emission
(C) To promote renewable energy

(B) To protect marine ecosystem
(D) To protect the ozone layer

WFGe! SlBIRRTeTR 2l o7 S e ¢

(A) 84 e sNew [Hev@a e Fal (B) Y Igoacs 5! F4

(C) Fszeicalsly *fes IIRRE Txe Al (D) ST&I BF T 4l

Montreal Protocol @1 EREC) SEADIEC o)

(A) BRI —IRTeT SO HF T (B) wrfsep uTRa—=TenT &

(C) TR SHofiets TATET T (D) SIS UFebT GRET

Which Indian state is closely associated with the Bishnoi community?

(A) Rajasthan (B) Kerala (C) Maharashtra (D) Punjab

TR (Fl Aiey [ezeid sremicas s gfeveie wive ¢

(A) el (B) (41T (C) T=2i4lg (D) &=
YRAGe! BT 15 fI8Ts TR e Wuel Frafeed & 2

(A) TSTERATT (B) &Rl (C) HERTE (D) GITe

What is the term used to describe the variety of genes within a species?

(A) Genetic diversity (B) Species diversity

(C) Ecosystem diversity (D) Community diversity

&l @ arwifen e [ied e e 390t oreala T 7zs e & 9

(A) fEeare &ioas (B) eifeae &iba) (C) IBeiiEs [@vay (D) WS (Jfbar
SISTTTCTT AT Y] fAfediets g ereger ater TRee 2

(A) Srraferes fafeegar  (B) woiir fafdear (C) urivarf~=e fafaer (D) FqeTRie fafderr



